## RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL (Enrollment - October)

the

RES. NO. 373-90 1 WHEREAS, the Tohono O'Odham Council has reviewed 2 recommendations of the Enrollment Committee in accordance 3 with Section 1 of Article VIII of the Enrollment 4 Ordinance, Ordinance No. 05-81, and has made a final 5 determination that the application of the following 6 applicants for membership in the Tohono O'Odham Nation be 7 approved: 8 ARTICLE II - MEMBERSHIP 9 SECTION (1b) ALL CHILDREN BORN TO RESIDENT MEMBERS 10 2726-B-90 WARREN, Betty A. 11 1821-CK-86 PENA, Hilaria F. 2006-CK-89 VALISTO, Margaret J. 12 2007-CK-89 VALISTO, Rebecca 2082-CK-90 NORIEGO, Yolanda P. 13 2083-CK-90 PENA, Victor H. 14 1988-GA-90 LOPEZ, Troy 1989-GA-90 HARVEY, Vanessa 15 1990-GA-90 CASTILLO, Holly A. 16 1440-GV-90 ORTEGA, Yvette L. 1459-GV-90 MONTANA, Darius M. 17 1461-GV-90 MANUEL, Mark I. 18 1482-H-90 CHILDS, Louie James 1529-H-90 ANGEA, Arlan E. 19 1532-H-90 TERRAZAS, Elena E. 1533-h-90 MANUEL, Aleria B. 1535-H-90 GARCIA, Lawrencine M. 20 21 1274-P-85 MARIANO, Sonya 1498-P-90 ANTONE, Janice A. 22 1507-P-90 LISTO, Aaron M. 23 1246-GB-90 BUSTAMANTE, Ana KING, Brian A. 1248-GB-90 24 1249-GB-90 KING, Lauren N. 1250-GB-90 LUNA, Michelle A. 25 1251-GB-90 LUNA, Roberta L. 1252-GB-90 LUNA, Robin A. 26 1253-GB-90 ESPINOZA, Gerald J. Jr. 27 1520-SX-89 RENS, Elizabeth A. 28 1292-ST-90 COOK, Andrew S. 1296-ST-90 HAVIER, Shera C. M. 29 1301-ST-90 JUAN, Jerilyn R. 1302-ST-90 JUAN, Wayne M. 30

1304-ST-90 BAILEY, Akeem M. 1305-ST-90 THEIS, Deanna K.

31

32

RES. NO. 373-90 (Enrollment - October) Page (2)

2

3

1

3164-S-89 SIQUIEROS, Ashlynn D. HAVIER, Khrysthyn D. 3202-S-90 AMBROSE, Mario J. 3203-S-90

4

3217-S-90 PAREDES, Alicia

5

1733-SO-90 PEDRO, Roberto J. FRANCISCO, Avis D. 1734-SO-90

6

1735-SO-90 FRANK, Devon C.

7

SAUNDERS, Samantha 1736-SO-90

8

9

10

11

NOW, THEREFORE, BE IT RESOLVED that it is hereby determined that the above named applicants are eligible for enrollment as members of the Tohono O'Odham Nation under Section 1(a) or (b) of Article II of the Constitution of the Tohono O'Odham Nation, and that their applications are approved,

12

13 as herein above indicated.

14

BE IT FURTHER RESOLVED that the Chairman and other appropriate officers of the Tohono O'Odham Nation reduce this final

16

15

determination in writing regarding each of the foregoing

18

17

applications for enrollment in accordance with Section 3 (c) of Article III of the Enrollment Ordinance; give

19

notice of this Council's determination in accordance with

20

Section 4 of Article III of the Enrollment Ordinance; and

21 22

place the names of each applicant upon the membership roll

23

of the Tohono O'Odham Nation in accordance with Article

24

The foregoing Resolution was passed by the Tohono O'Odham Council on the 15th. day of October, 1990 at a meeting at which a quorum was present with a vote of 1,246.5 for; 63.5 against; 414.0 not voting; and -0- absent, pursuant to the powers vested in the Council by Section 1 of Article II and of Section 1 (h) of Article VI of the Constitution of the Tohono O'Odham Nation, adopted by the

V of the Enrollment Ordinance.

27

28

25

26

Tohono O'Odham Nation on January 18, 1986 and approved by the Acting Deputy Assistant Secretary - Indian Affairs (Operations) on March 6, 1986 pursuant to Section 16 of the Act of June 18, 1934

29

(48 Stat. 984).

30

31

32

RES. NO. 373-90 (Enrollment - October) Page (3) 1 2 TOHONO O'ODHAM LEGISLATIVE COUNCIL 3 4 Edward D. Manuel, Legislative Chairman 5 day of October 6 7 ATTEST: 8 9 choyguha,/Legislative Secretary 10 and day of October 11 Said Resolution was submitted for approval to the office of the Chairman of the Tohono O'Odham Nation on the day of M., pursuant Gaber 13 to the provisions of Section 5 of Article VII of the Constitution and will become effective upon his approval or upon his failure to 14 either approve or disapprove it within 48 hours of submittal. 15 TOHONO O'ODHAM LEGISLATIVE COUNCIL 16 17 Edward D. Manuel, Legislative Chairman 18 on the 24 day of Oct. , 1990 APPROVED 19 at 8:46 9'clock, A. M. DISAPPROVED ) 20 21 sadiene, on ANGELO J. JØAOVÍN, SV., Chairman TOHONO O'ODHAM NATION 22 23 Returned to Legislative Secretary on the 24th day of October, 24 19 90, at 1:28 o'clock, p.M. 25 26 Teresa M. Choyguha, Legislative Secretary 27 28 29

30

31

32

MOVED:	Joseph Juan	SUBJECT: Enrollment Approvals, Article II
SECOND:_	John Reno	Section 1(b)

DATE: October 15, 1990

RESOLUTION NO. 373-90

DISTRICTS	REPRESENTATIVES	of votes	FOR	AGAINST	NOT VOTING	ABSENT
BABOQUIVARI 229.0	1. Earl A. Francisco (Kenneth Chico, Sr.)	114.5	х			
223.0	2. Joann Garcia (Frances Miguel)	114.5	Х			
CHUKUT KUK	1. Rosita Ruiz (Rosemary Lopez)	81.5	х			
163.0	2. Kenneth G. Williams (Harriet Toro)	81.5	Х			
GU ACHI 166.0	1. Percy Lopez	83.0	х			
166.0	2. Alex J. Ramon (Fernando Joaquin)	83.0	х			
GU VO 114.0	1. Cross Antone (Juan Joe Cipriano)	57.0	х			
114.0	2. Virgil Lewis (Michael Flores)	57.0			Х	
HICKIWAN 125.0	1. Lloyd Francisco (Billy C. Manuel)	62.5	X			
125.0	2. Henry Ramon	62.5	Х			
PISINEMO	1. Johnson Jose	59.5	х			
119.0	2. Edward Manuel (Alex Antone)	59.5			Х	
SAN LUCY	1. Albert Manuel, Jr. (Max P. Jose)	53.0	х			
106.0	2. John Reno	53.0	х			
SAN XAVIER	1. Eugene Enis. Sr. (Michael Rios)	63.5			х	
127.0	2. Joanne C. Preston (Carmelita Mattias)	63.5		х		
SCHUK TOAK	1. JoAnn Francisco (David Valenzuela Sr.)	53.5	х			
107.0	2. Joseph Juan (Frances Francisco)	53.5	х			
SELLS	1. Joseph T. Joaquin (Larry Garcia)	155.0			х	
310.0	2. Andrew Patricio (Daniel Lopez)	155.0	х		1	
SIF OIDAK	1. Mary Ann Antone (Nina Jose)	79.0	х			
158.0	2. Willard Juan, Sr. (Melissa Gregorio)	79.0			Х	
	TOTAL	1,724.0	1,246.5	63.5	414.0	-0-